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{(PART : B-DESCRIPTIVE)
(Marks : 50)
The figures in the margin indicate full marks for the

questions

1% What is Alcoholism? Critically examine MLPC Act
2014 implemented by the Government of Mizoram
(10)
Or

What is meant by Social Problem? Write the causes
of Social Problem. (10)

s Explain the causes of unemployment in India. (10)
Or

Explain poverty as a cause of social problems in

India. (10)



Write on the nature and characteristics of
Prostitution and also discuss its causes in North

East India. (10)
Or

Define social disorganization. Discuss the process

of social disorganization. (10)

Discuss the relevance of social work intervention in

the context of communalism in India. (10)
Or

What are the causes of population explosion and

discuss its preventive measures. (10)
Examine the concept of social change. (10)
Or

Corruption and nepotism are social evil. Comment.
(10)
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EASER B e e
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(PART : A-OBJECTIVE)

(Marks : 25)

SECTION - A
(Marks - 15)

Put a tick {v) mark against the correct answer in the

corresponding brackets: 1x10=10
1. Social disorganization is a

NS

(a)
(b)
(c)
(d)

Source of Social Problems ( )
Perspective on Social Problems ( J
Both ‘A’and B’ ( )
Neither ‘A’ nor ‘B’ (

Social change and social problem are

()
(v)
(©
(d)

Independent o )
Interdependent  ( J
Determinants ( J
Variables ( )

A
x



1

0.

The major cause of poverty in India is

(@) Inadequate [ncome ( )
(b)  Food Insecurity ( )
(c)  Social Inequality ()

(d)  Population Explosion ( | )

According to malthurian theory, population increases by

() Arithmatic Progression | )
(b} Geometric Progression ( )
()  Equal Progression ( |
(d)  Multiple Progression ( )

NLM is addressing the problem of

(a)  Mliteracy ( ]

(b)  Poverty ( J
{c)  Unemployment |

(d)  Underemplovment { }

Which of the following is not a cause of sex work?

(a)  Poverty ( J
(b]  Domestic violence ( J
{c}  Drug Abuse ( )
(d)  Rape ( )
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9.

10.

Which of the following is not an insurgent group in NE India?

(a)  ULFA B
(b)  JKLF =
(c) NSCN(K) ( )

(d MNF ()

Communalism as a political Ideology based on

(a)  Community ( )
(b)  Ethnicity ( )
() Religion ( J
() lLanguage ( J

Untouchability is rooted in

(a)  Caste System ( )
(b)  Castecism ( )
(c)  Patriarchy [ j
(d)  Class System ( )

Density of Population in India according to 2011 census is

(a) 282 person per sq ki ( |
(b) 280 person per sq km ( |
(c) 382 person per sq km )
(d) 380 person per sq km ( )
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State whether True or False (1x5=9)

1.

[\®]

28

+

o

Communal riots are the results of British divide and

rule policy. (T/ F)

Poverty is the only cause of prostitution in North East
India. (T/ F)

The Abuse or misuse of Public offices for personal gain
1s corruption. (T/ F)

Social change is a continuous process. (T/ F)

MNF was formed as an insurgent group in its inception.
{ T/ F)
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SECTION - B
(Marks : 10)

lIl. - Write short notes on the following: 2x5=10

1. Illiteracy as a Social Problem.
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What are the Effects of Insurgency?
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3. What is Casteism?

Il

r

|

\1
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Define Drug Abuse.
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3,

‘What is meant by Sex Work?
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